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• ke = âhe Ùee  pe e BÛe  k e âj  ue W e fke â Fme  Øe Mve -he $e  c e W c e ge fõle  he =‰ 16 le L ee  Øe Mve 
30(15+15) nQ~ 

Please make sure that the printed pages in this 

question paper are 16 in number and it contains 

30(15+15) questions. 

• Øe Mve -he $e  ceW oe e fnve s ne L e k e âe r De e sj efoÙe s ie Ùe s keâes[ vecyej le L e e mesš ke âe s Úe$e               
Gòe j -h e ge fml e ke âe  ke s â  ce gKÙe -he =‰ he j  e fue Ke W~ 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

• ke = âhe Ùee  Øe Mve  ke âe  G òe j  e fue Ke ve e Me g™ k e âj ve s mes he nue s , Øe Mv e  ke âe  ›e â cee b ke â  De Je MÙ e 
e fue Ke W~ 

Before beginning to answer a question, its Serial 

Number must be written. 

SET : B 
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• Gòe j -h e ge fml e ke âe  ke s â  ye e rÛe  ceW Ke e ue er h e vve e /he vve s ve  Úe sÌ [W~ 
Don’t leave blank page / pages in your answer-book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• he j er#e eL ee a De he vee  je sue  ve b 0 Øe Mve -he $e  he j  De Je MÙe  e fue Ke W~ 
Candidates must write their Roll Number on the 
question paper. 

• ke = âhe Ùee  Øe Mve eW ke âe  Gòej  osves me s he tJe & Ùe n me ge fve e fMÛe l e  ke âj  ue W e fke â Øe Mve -he $e  he tCe& 
Je  me ne r nw , hejer#ee kesâ Ghejevle Fme mecyevOe ceW keâesF& Yeer oeJee mJeerkeâej 
veneR efkeâÙee peeÙesiee~ 

 Before answering the questions, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination.  

meeceevÙe efveos&Me : 

 (i) Ù e n he ÇMve -h e $e  oe s Ke C[e W c e W e fJeYe e e fpe le  nw : 

  KeC[ – De : ke âch e ve e r ue sKe s le Le e  e fJe òe e rÙe  efJe Jej Ce e W ke âe  e fJe Mue s<e Ce 

  KeC[ – ye : ke âch Ùe tšje rke = âle  uesKe e b ke â ve 

 (ii) h e j er#e e L ee r& De he ve er F ÛÚe  mes keâesF& Skeâ KeC[ Ûe gve W~ 

 (iii) meYeer heÇMve nue keâjves nQ~ he Çl Ùe ske â he ÇMve ke sâ  De b ke â  Gme ke s â me e ce ves 
oMe e &S  ie S  nQ~ 

 (iv) h e ÇMve  me b KÙe e  1 me s 6 l e ke â yengJe wke âe fuhe ke â  heÇMve  nQ~ e fpe ve ke âs  mener 
G òe j  Ûe gve ke âj  De he vee r Gòe j -he ge fmle k e â e  ce W efue Ke ve s nQ~ 

 (v) h e ÇMve  me b KÙ e e  13, 14 Je  15 ce W De e vle e fj keâ  Útš G he uey Oe  nw~ 
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General Instructions : 

 (i) This question paper is divided into two 

Sections : 

  Section – A : Company Accounts and 

Financial Statement Analysis 

  Section – B : Computerised Accounting 

 (ii) Candidates have to select any one Section 

of their choice. 

 (iii) All questions are to be attempted. Marks 

for each question are indicated against it. 

 (iv) Question Nos. 1 to 6 are multiple choice 

questions. Candidates are required to select 

one appropriate answer and write the 

same in their answer-book. 
 (v) Internal choice is available in Question No. 

13, 14 and 15. 

KeC[ – De 
SECTION – A 

(keâcheveer uesKes leLee efJeòeerÙe efJeJejCeeW keâe efJeMues<eCe) 
(Company Accounts and Financial Statement Analysis) 

  1. pe ye  $e +Ce he $e e W ke â es Ke je r oe r i e F& me c he e f òe k es â  he Çe f le He â ue ke s â ef ueS  e f ve ie & ef ce l e 
e f k eâÙ ee pe e lee  nw l e es j e s pe vee ce Ûe e  he Ç e f Jee f „ ne s iee r : 1 

 (A) $ e +Ce he $e Ke e lee  [s e f ye š, me c he e fòe ›e s âe f [š 
 (B) me che e f òe Ke e le e [se f ye š,  $e +Ce he$e Ke e le e ›e s âe f[š  
 (C) me che e f òe Ke e le e [se f ye š,  ef Je ›es â lee  ›e s âe f [š 
 (D) G he Ù eg & ke ä le ce W ke âe s F& ve neR 
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 When debentures are issued for consideration of 

purchase of asset, the journal entry will be : 

 (A) Debenture A/c Dr. To Asset 
 (B) Asset A/C Dr. To Debentures 
 (C) Asset A/c Dr. To Vendor 

 (D) None of the above 

  2. Dehe ves $e+Cehe $eeW keâes jö keâjves h ej ngS ueeYeeW keâes nmleevleefjle efkeâÙee peele e 
nw :  1 

 (A) ue eYe-ne e f ve  Ke e le s ceW (B) e f mebe f ke b â ie H eâ C[ Ke e le s ce W 
 (C) h e t B pe e r ie le  me b Ûe Ùe  ce W (D) GheÙeg& keä le ceW mes ef keâmeer ceW veneR 
 Profit on cancellation of own debentures is 

transferred to : 

 (A) Profit and Loss A/c (B) Sinking Fund A/c 

 (C) Capital Reserve (D) None of the above 

  3. De Ùe e e f Ûe le  ue eYe ebMe  k e âe s ke âc he ve e r k es â  De ee fLe & ke â ef Ûe ªs ke s â  oe e f ÙelJe  h e#e ke s â 
Me e r <e & ke â ce W e f oKe e Ùee  pe e l ee nw : 1 

 (A) De bMe  he tB pe e r 
 (B) me b Ûe Ùe Je Dee e fOe ke ä Ùe 
 (C) Ûe e uet oe e f Ùe lJ e Je  he Ç e JeOe e ve  
 (D) G he Ù eg & ke ä le e f ke â me er ce W ve ne R 
 Unclaimed dividend is shown on the liabilities 

side of the Balance Sheet under the head : 

 (A) Share Capital 

 (B) Reserve & Surplus 

 (C) Current liabilities & provisions 

 (D) None of the above 
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  4. e f ve cve ce W me s ke âe w ve-me e r ce o ke âch e vee r ke s â De e e fLe & ke â  e f Ûeªs  ke s â Mee r <e & k eâ ` mL ee F& 
me ch e e f òe'  ce W e f oKe e F& pe eS ie er ? 1 

 (A) Ke g ue s De ew pee j (B) KÙe e e f le 
 (C) k e = âe f $e ce  me che ef òe (D) Gh e Ùeg & k eä le  ke â es F & Yee r ve ne R 
 In the Balance Sheet of a company which of the 

following item is shown under the head 'Fixed 

Assets' ? 

 (A) Loose Tools (B) Goodwill 

 (C) Fictitious assets (D) None of the above 

  5. ie Çe nk e âe W me s Je me t ue e r ngS  je s ke âÌ [ he ÇJe e n k e âe s Je ie er & k e= âl e ke âj sb ie s : 1 

 (A) e f ve Je sMe ve  e f ke Ç âÙe eDe e W me s 
 (B) e f Je òe e r Ùe v e e f ke Ç âÙe eDee W mes 
 (C) h e e fj Ûe e ue ve  ef ke Ç âÙe eDe eW me s  
 (D) G he Ù eg & ke ä le ce W ef k e âme er me s ve ne R 
 Collections from customers are classified as 

cash inflows from : 

 (A) Investing activities 

 (B) Financing activities  
 (C) Operating activities 
 (D) None of the above 

  6. JÙe e he ee fj k e â j ne f le Ùes k es â  cet uÙe  ce W Je =e f æ ke âe  he e f j Cee ce  ne s le e  nw  : 1 

 (A) y ee f nJee & n (B) De vle j  he ÇJe e n 
 (C) k e â es F & ve k e âo he Ç Jee n ve ne R (D) Gh e Ùeg & k eä le  ceW k e âe s F& v e neR 
 Increase in the value of stock results in : 

 (A) Cash outflows (B) Cash inflows  

 (C) No cash flow (D) None of the above 
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  7. S k eä me e f ue ef ce šs [ v e s 10 ` Jee ue s 150 De bMe  pee s e f ke â 5 ` he Çe re f ce Ùe ce h ej 
e f ve ie& ef ce le e f ke âS  L es,  De ey eb šve j e efMe 8 ` he Çe f le DebMe  (5 ` h e Ç e re f ce Ùe ce 
me e f nle ), he ÇL e ce Ùe e Ûe ve e 2 ` he Çe f le DebMe le Le e De e fv le ce Ùee Ûe vee 3 ` h e Ç ef l e 
De bMe ve ef c e ue ve s he j  peyle  ke âj e f ueS ~  F ve c eW me s 100 De bMe  14 ` h e Ç e f l e 
De bMe he t Ce& le Ùe e Ûe g ke ä l ee h eg ve:  e fve ie &e f ce le k e âj  ef oS ~ 

 De bMe e W ke s â peyl e k eâj ve s leL ee h e g ve:  ef ve ie & ce ve me s me cye e f vOe le De e JeMÙe ke â 
j e s pe ve e ce Ûee h eÇ e fJ ee f „ k eâ e re f pe S ~   4 

 X Ltd. forfeited 150 shares of ` 10 each issued  

at a premium of ` 5 per share for non-payment 

of allotment money ` 8 (including premium), ` 2 

for first call and ` 3 for final call per share. Out 

of these, 100 shares were reissued at ` 14 per 

share. 

 Pass the necessary journal entries for forfeiture 

and re-issue of shares. 

  8. vÙe t ve le c e Dee fYe oe ve ke âe r j e e fMe me s De e he ke â e ke ä Ùe e  De e fYe h e Çe Ùe  nw ? 4 

 What do you mean by Minimum subscription ? 

  9. S k e â e f ue e f ce šs [ ke âch e ve e r ve s 1 De he Ç w ue, 2008 ke âe s 94% ke â e r oj  me s 
10,00,000 ` ke sâ  $e +Ce he$ e pe e je r e f ke âS  e f pe ve ke âe Me e sOe ve  h e eB Ûe  me cee ve 
Je e e f <e &ke â  e f ke âmle eW, 2,00,000 ` he Çe f le J e <e &,  ceW uee @ šj er Éej e e f keâ Ùee  pe e ve e 
nw~ 

  Ù e n ce e ve l es ng S  e f ke â  k e âch e ve e r $ e +Ce he $e eW h e j  oe r ie F& ke âše w lee r k e â er 
j ee fMe  ke âe s $e + Ce he $ee W k e âs pe er Je ve ke âe ue  ce W ne r De he e f ue ef Ke le  ke â j siee r,  hee B Ûe Je <e& 
ke âe $ e +Ce he $e eW he j ke â še w le er Ke e lee ye ve e FS ~  4 
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 A Ltd. company issued debentures at 94% for 

` 10,00,000 on 1st April, 2008 repayable by five 

equal annual drawings of ` 2,00,000 each. 

  Prepare 'Discount on Debenture Account' 

for five years, assuming that the company 

decided to write off the debenture discount 

during the life of the debentures. 

10. e f Je òee r Ùe ef J e Je j Ce e W ke s â e fJeMue s <e Ce ke s â  ce nòJee W he j  he Ç ke âeMe  [e e f ue S ~ 4 

 Throw light on the importance of analysis of 

financial statements. 

11. e f ve cve me c ee Ùe e s pe ve  ke â j ve s ke sâ he MÛe e l e ke â che ve er k e âe  Je <e & 31 ce eÛe &,  2012 
ke âe ue eYe 4,75,000 ` L ee : 4 

 `̀̀̀ 

Ye Je ve he j  Üe me 55,000 

$e +Ce he $e eW he j  ke â še w le e r De hee f ue e f Ke le  keâ e r 12,000 

e f Je e f ve Ùe es ie ke âe r e f ye ke Ç âe r h ej  ne e f ve 4,500 

e f Je e f ve Ùe es iee W he j  y Ùee pe he Çe hle  ngDe e 6,500 

 

Mes<e 31 ceeÛe&, 
2011  

`̀̀̀ 

31 ceeÛe&, 
2012  

`̀̀̀ 

mše @ k e â 75,000 52,500 

De oòe J e s le ve 6,250 5,250 

os Ùe  e f ye ue 8,250 5,750 

 Gh e Ùeg & k eä le  me t Ûe ve e De e W mes hee f j Ûe eue ve ef k eÇ âÙ eeDe eW me s je s ke â Ì [ he Ç Jee n k e âe r ie Ce ve e 
ke âer e f peS ~  
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 A Company had a profit of ` 4,75,000 for the 

year ended on 31st March, 2012 after 

considering the following : 

 `̀̀̀ 

Depreciation on Building 55,000 

Discount on Debentures written off 12,000 

Loss on sale of Investments 4,500 

Interest received on Investment 6,500 

 

Balance as on 31 March 

2011  

`̀̀̀ 

31 March 

2012  

`̀̀̀ 

Stock  75,000 52,500 

Outstanding salary 6,250 5,250 

Bills Payable 8,250 5,750 

 Calculate cash flow from operating activities 

from the above information. 

12. me b# es h e ce W je s ke âÌ [ ØeJ ee n e f Je Je j Ce ke s â G ösMÙ ee W ke âe r JÙe e KÙe e ke â er ef pe S~ 4 

 Explain the objectives of cash flow statement in 

brief. 

13. S k e â ke â che ve er ve s 10 ` J ee ue s 10,000 De bMe pe v e lee  ke âe s e f ve ie &ce ve  kes â  e f ue S  
pe ej e r e f ke âS ~ e f pe ve ke âe r je e fMe F me Øe k e âe j  os Ùe  L ee r :  

 (i) De e Jes ove h e j  3 ` Øee f l e De bMe  
 (ii) De e ye b šve he j  2 ` Øe ef le  De bMe  
 (iii) Ø eLe c e Ùe e Ûe ve e he j  3 ` Øe ef le De bMe   
 (iv) De e f vle ce Ùee Ûe vee  he j  2 ` Øee f le De bMe   
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 15000 De bMe e W ke s â e f ue S  De e Je sove  Øe e hle ngS ~ 

 me b Ûee ue ke âe W Ée je  De eye b šve  Fme  Øe ke âe j  e f ke â Ùee ie Ùee  : 

 (i) 3000 De bMe e W ke s â  Dee Je s ok e â eW ke âe s k e â es F & De bMe ve ne R e f oÙ e e~  

 (ii) y ee k e âe r De e Je s ok e âe W ke âe s Dee veg he e ef l e ke â De ey eb šve ef k e â Ùee i e Ùe e ~ 

 meYe e r Ùee Ûe vee e f Jee fOe Je le k eâe r ie F& leL ee e f ve cve ke âe s Úe sÌ [k e âj me Yee r j e e fMe Øe e hl e 
ne s ie F & : 

 (i) c e e s nve, ef pe me ke s â hee me 100 De bMe  Le s oe s ve eW Ùee Ûe vee De eW k eâ e he w me e 
De e ye b šve ke s â  meeLe  os e f oÙe e~ 

 (ii) me e s nve, e f pe me ke â es 200 De bMe De e ye be f šl e e fk e âS  ie S  L e s, oe s ve eW 
Ù e e Ûe veeDee sb  ke â er je e fMe k e âe  Yeg ie le eve  ve neR e f ke â Ùe e ~ 

 (iii) j e s nve, ef pe me ke âe s 100 De bMe Deeye be f šle e f ke âS  ie S Le s, ot me j er Ùee Ûe ve e 
k e â er je e fMe ve neR os me k e âe ~ 

 Gh e Ùeg & k eä le  ues ve os vee W me s me c yee f v Oe le De e JeMÙ e ke â ue sKe s ke âe re f pe S ~  10 

 A company offers 10,000 shares of ` 10 each to 

the public. The amount is payable as follows : 

 (i) On Application ` 3 per share 

 (ii) On Allotment ` 2 per share 

 (iii) On 1st call ` 3 per share 

 (iv) On Final call ` 2 per share 

 Applications are received for 15,000 shares. 

 The directors make the allotment as follows : 

 (i) No allotment to applicants for 3,000 shares 

 (ii) Rest allotment made on pro-rata basis 
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 All calls duly made and paid except : 

 (i) Mohan, a holder of 100 shares paid the two 

calls with allotment. 

 (ii) Sohan, a holder of 200 shares fails to pay 

the 1st and 2nd calls  money. 

 (iii) Rohan, a holder of 100 shares fails to pay 

the 2nd call money. 

 Pass the necessary journal entries to record the 

above transactions.  

DeLeJee 
OR 

 e f ve cve me s me cye ef vOe l e Øe e Je Oe ev ee W ke âe  Je Ce & ve ke âe r ef peS  : 
 (i) De l Ùe e fYe oe ve S J eb De bMee W ke â e Dee ve g he ee f le ke â Dee ye b šv e~ 
 (ii) De bMe e W ke âe ke â še w lee r hej  e fv e ie & ce ve~ 
 Explain briefly the provisions regarding the 

following : 

 (i) Over-subscription and pro-rata allotment of 

shares. 

 (ii) Issue of shares at discount. 

14. S k e â k e â che ve e r ke âs 8,00,000 ` 15% $e +Ce he $e 1 De Øe w ue, 2011 k eâes 
De oòe  L e s, ef pe ve k e âe  Me esOe ve 31 c e e Ûe &,  2012 ke âe s ke âj ve e Le e ~ Fme  e f ove 
e f mebe f ke b â ie H e âC[ ke âe Me s <e 7,49,000 ` L e e  pee s e f ke â  1,00,000 De he v es 
$e + Ce he $e es b k eâe s 99 ` k es â De e w me le ce t uÙe ce W Ke je r oe leLe e 6,60,000 ` ke s â 
9% m še @ ke â  ce W e f Je e f ve Ùe e se f pe le Le e~ J e ee f <e & ke â ef k e â mle 28,400 ` ke âer Le er~  

 31 ce e Ûe &, 2012 k e â e s 98 ` k e â e r oj  me s m še @ ke â  ye s Ûe e f oÙ e e leLe e 
$e + Ce he $e eW k e âe  Ye gie lee ve ke âj  ef oÙe e ie Ùe e~ 

 De e he ke â es J e <e & 2011-12 ke s â  e fue S  Dee J eMÙe ke â  Ke e le s ye ve e ve s nQ~ 10 
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 A company had ` 8,00,000, 15% debentures 

outstanding as on 1st April 2011, redeemable on 

31st March, 2012. On that date, the  sinking 

fund was ` 7,49,000 represented by ` 1,00,000 

own debentures purchased at the average price 

of ` 99 and ` 6,60,000 of 9% stock. The annual 

installment was ` 28,400. 

 On 31st March, 2012, investments were realized 

at ` 98, and the debentures were redeemed. 

 You are required to write up the accounts for 

year 2011-12. 

DeLeJee 
OR 

 $e + Ce he $e eW ke s â Mee sOe ve ke âer e f Je efYe V e e f Je efOe Ùe e W ke âe r Goe nj Ce me e fnle J Ùe e KÙee 
ke âer e f peS ~    10 

 Describe the various methods for redemption of 

debentures with the help of examples. 

15. e f ve cve e f Je J ej Cee W me s ie Ce ve e ke âe re f pe S  : 10 

 (i) e f Je k eÇ â Ùe Je mle g ke â er uee ie le 

 (ii) h e Ç ej e f cYe ke â j ne f le Ùe e leLe e  De e f vle ce j ne f le Ùe e 

 (iii) Ûe e uet me chee f òe Ùe e B leL e e le j ue me che e f òe Ùee B,  Ùee f o 

  (a) mše @ ke â De e Je le & ve De ve g he e le 6 ieg Cee  ne s 

  (b) De e f vl e ce jne f l e Ùe e, he Çe je f cYe ke â j ne f le Ùe e me s 6,000 ` 
pÙe e oe  nw 

  (c) me k e âue  ueeYe  De ve g he e le  25% l e Le e e f Je k eÇ â Ùe 80,000 ` 

  (d) Ûe e uet oe e f Ùe lJe  32,000 ` leLe e  lej ue  De ve g he e le 0.8 nes 
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 From the following details, calculate : 

 (i) Cost of goods sold 

 (ii) Opening stock and closing stock 

 (iii) Current Assets and Quick Assets, if 

  (a) Stock turnover ratio is 6 times. 

  (b) Closing stock is ` 6,000 more than 

opening stock 
  (c) Gross profit ratio is 25% and sales 

` 80,000 
  (d) Current liabilities ` 32,000 and Quick 

Ratio is 0.8. 

DeLeJee 
OR 

 (A) De v e g hee le ke âe ke ä Ùee ce nòJe nw ?    5 

  What is the significance of ratio ? 

 (B) De v e g hee le e f JeMue s<e Ce k eâ er me er c ee S B ke ä Ù ee nQ ?  5 

  What are the limitations of ratio analysis ? 

KeC[ – ye 
SECTION – B 

(keâchÙetšjerke=âle uesKeebkeâve) 
(Computerized Accounting) 

  1. 'GUI' mes De e fYe h eÇ e Ùe nw : 1 

 (A) me g e f Ûee f $e le  Ghe Yee s ke ä lee  De b le j e he = ‰ 
 (B) ue s Ke ee f Ûe e f$e le Gh eYe es k eä le e Deb le je he = ‰ 
 (C) ue s Ke ee f Ûe e f$e Ùe JÙe e he ke â  De b le je he = ‰ 
 (D) G he Ù eg & ke ä le ce W ke âe s F& ve neR 
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 'GUI' stands for : 

 (A) Graphical User Interface 

 (B) Graph User Interface 

 (C) Graph Universal Interface 

 (D) None of the above 

  2. efve cve ce W mes ke âewve-meer ue Ieg ke gBâpeer ke âe ØeÙe esie [sše efÛe hekeâeves kesâ e fueS efkeâÙe e 
pee lee nw ? 1 

 (A) Ctrl + V (B) Ctrl + C 

 (C) Ctrl + Z (D) Gh e Ùeg & k eä le  ceW k e âe s F& v e neR 

 Which of the following key is used to paste 

data ? 

 (A) Ctrl + V (B) Ctrl + C 

 (C) Ctrl + Z (D) None of the above 

  3. mØe w [Me e r š ce W me t$e Fmle s cee ue  ke âjve s ke s â e f ue S  ke âe w ve -me e e f Ûe Ö ØeL ece  Fmle s cee ue 
e f k eâÙ ee pe e lee  nw ?  1 

 (A) %  (B) * 

 (C) =  (D) / 

 To enter formula which of the following symbol 

is used as first character in a spread sheet ? 

 (A) %  (B) * 

 (C) =  (D) / 
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  4. e f ve cve ce W me s ke âe w ve-me e ‘ Me yo’  h ebe f òe â De ew j  ml e cYe Ù ee s ie  me s ye ve le e nw ?  1 

 (A) e f $eYeg pe  (B) Ûe ›e â 
 (C) pe e uee r  (D) Gh e Ùeg & k eä le  ceW k e âe s F& v e neR 
 Combination of Row and Column in a 

spreadsheet form which of the following term ? 

 (A) Triangle (B) Circle 

 (C) Grid  (D) None of the above 

  5. e f ve cve ce W me s ke âe w ve-me e S ke â F ve he g š Ghe ke â j Ce nw ? 1 

 (A) c e g õk e â  (B) hue e @ šj 
 (C) k e â er-yee s [& (D) F ve ce W me s ke âes F & ve ne R 
 Which one in the following is the input device ? 

 (A) Printer (B) Plotter 
 (C) Key Board (D) None of these 

  6. e f ve cve ceW me s ke âe w ve -me e r l e ke âve erke â Ke e le e S Je b De ee fL e& ke â ue s ve os ve  oe s ve e W ceW 
Øe Ù ee s ie  ne s lee r nw ? 1 

 (A) e f Je ml e e j Ce (B) meb e f nle e ke âj Ce 
 (C) mJ e j  he e f jJe le& ve (D) Gh e Ùeg & k eä le  meYe er 
 Which of the following technique is required for 

both Accounts and financial transactions ? 

 (A) Amplification (B) Codification 

 (C) Modulation (D) All of the above 

  7. efkeâme DeeOe ej he j GheYeeskeäle e keâer pee vekeâejer keâe s Je ieeake=âle e fkeâÙee pee lee nw ? 4 

 On which basis user's information is 

categorized ? 
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  8. [s še y e s me e f [pe e F ve k e sâ e f ue S  ue s Ke e Ø e Cee ue e r e f› e âÙe e vJ e Ùe ve ke âe r ef peS ~ 4 

 Implement a given database design for 

accounting. 

  9. e f Je efYe Ve  ues Ke e Øe Ce e ue e r [s še yes me e f [p e e F ve k es â e f ueS  J eeG Ûe j  le w Ùe ej  k e â jW De e wj 
JÙe e KÙe e ke âe re f pe S ~ 4 

 Describe and create voucher form in consonance 

with different Accounting Database designs. 

10. e f j he es š& le w Ùe e j  ke âjve s ke âe r Øe ef ›e âÙ ee k e âe  Guue s Ke  ke âe re f pe S ~ 4 

 Describe the process of creating Report. 

11. he g v eYe g&ie l ee ve  ke âe Ù e& ›e âce he j  e fšhh eCe e r e f uee f KeS ~ 4 

 Write a short note on Repayment schedule. 

12. [s še y e s me me cyee fv Oe le  ke â e Ùe & Øe Ce e ue e r ce W ke âc hÙe t šj  ke âer pe™j le  me ce P ee F S ~ 4 

 Write a basic requirement for the use of 

computer in any DB oriented Application. 

13. De e he  e fj h ee se f šË ie Øe Ce e ue e r me s ke äÙe e me ce Pe le s nQ ?  S k e â  De ÛÚe r e f j hee s e f šË ie 
Øe Ce e ue e r ce W ke âe w ve-me e r e f Je Me s <e le eS B ne s vee r Ûe ee f nS  ? 10 

 What do you understand by a Reporting 

System ? Discuss the essentials of a good 

Reporting system. 

DeLeJee 
OR 

 [s še y e s me yew k e â-S b [ (Back-End) ke s â e fJe e fYe Ve  Ø e ke âej e W k e âe  e f Je mle ej  mes 
Guue s Ke  ke âe re f pe S ~   10 

 Explain various types of Database system at 

Back-End. 
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14. S ce  S me-S k eä me s me (MS-Access) ce W y e ne r-Ke e lee  ye vee ve s ke âe r Øe ef ›e âÙe e 
ke âe Je Ce &ve  ke âer e f peS ~ 10 

 Explain procedure for designing the ledger 

accounts using MS-Access. 

DeLeJee 
OR 

 ØeMv ee J e ue er ye ve e ve s k eâ e r SQL ke âe r Øe Ceee f ue Ùee W ke â e Je Ce &ve  ke âer e f peS~ 10 

 Discuss the SQL methods for creating queries. 

15. Goe nj Ce ke âe r ce oo me s De YÙ e e me he ge f ml e ke âe Dee w j  ke â e ce  ke âe k e âe iepe  ce W De vl ej 
mhe °  ke â er ef pe S ~ 10 

 Differentiate between workbook and worksheet 

in Excel with the help of suitable example. 

DeLeJee 
OR 

 [e s ce w ve  ke g âue Ùe e s ie  leL e e SQL keg âue Ùe es ie ke âe Ùe & ce W De vle j  mhe ° k eâe re f pe S ~ 10 

 Differentiate between Domain Aggregate function 

and SQL Aggregate function. 

S 


